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_A section.
(2)  Answers to the two sections must be written in same answer sheet.

3) Flgures to the right indicate full marks.
(4)° Assume additional data if necessary but state the same clearly. -
%) Symbols have their usual meanings and tables have their usual standard design unless
o stated otherwise. '
(6)  Use of simple calculators and statistical tables is allowed.
~SectionI
1 a . What quantlfers are available in predicate calculus to representing knowledge, R
- Distinguish between them w1th suitable example? o
‘b. . Write a short.note on: _ - 6 -

-Indexing ,
Frame notation.

A 2 a. Define a function addprop where addprop will work similar to the function of putprop 6

3 -~b. | Explain working of ﬁrst and rest functions with suitable examples. 6
3 a Eiabprate on multifayered architecture of GA proposed by-Weinberg. — | 6
b. . IDesc‘ri‘be cemponents of classifier system in detail. o 6
4 a What is FAM? Describe FAMin detail. ‘ o .6
b Explein’in Ierief- “Neural and fuzzy systems as function estimators.” AP 6.
5 a ~ Elaborate on followmg sentence: “A self—learnlng computer can generate programs, R 6 k
itself, enabling it to carry out new tasks o .
b ,Descrlbe KDD process in details. | - _ ' -6
[TURN OVER
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SectionJI -
Write note on: i) FFT ii) Discrete cosine transform. : 6
b Explain the process of sampling and quantization. - x 7
" al _'Deﬁn'elahd explain the following frequency ﬁlte;s‘: i) Gaﬁ.{sian low pass ii) .Hi.gh‘-boo'st-- -6
‘\‘N‘_ha"t i§ Image averaging? Ekpléin any one application for the same. | ' | -7
B ._ B‘rieﬂy, gXpIain -thg scaling function, ' | : o N
»Déﬁn‘e ideal and Ramp édée. Hénc‘e discuss the d_érh?afiye cj);-)eratc')r'vs.-fb:r.thev same - 7 o
‘ .-;DvéﬁAn:e.'Sk'ejlté_:ton. Write aﬁd'explai'n .the steps to fine skeleton of an .objecf. 6
. Wlth an example explain the LZW coding technique in image compression. | 7
Write ,nAOté‘-_'on: i) Shape number ii)Moments" | ‘ 4 | - 6

Explain the use of thresholdihg in image segmentation. List down the steps to find the 7
global threshold value.
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E NB _ (1) S Attempt any three questions from each séction.-
| @) AnSwer'é to the two s¢<;fions must be written in same answer sheet.
' 3. - Flgures fo the nght md1cate full marks. , '
“@ - Assume addmonal data if necessary but state the same clearly.

*) Syrnbols have their usual meanings and tables have their usual standard design unless
- stated otherwise. | '

(6)  Use of simple calcqlatbr,and statistical tables.are allowed.

Section I

1 A Why encodmg the network addxess of the server’s machine- mto an Ob_] ect reference is not 6

-recommended?
b. Whatis a stateful or stateless connection? What are their advantages? 6
3 .' la, " How Ja.va'RMI rely on code migration?_ ' 6
b What is data streém? Which transmissién modes are used in distributed systems to 6

capture the exchange of time-dependent information? -
3 -a  Give an examplé where client-centric consistency .can‘casily lead to write-write conflicts. 6

b, How procésses in dlstnbuted systems synchronize for communication between processes = 6
to occur?

4 a What are dependable systems‘7 How dependable systems are used to. conurollmg faults" "6 N

b, - Consxder causally—consmtent lazy rephcanon When exactly can an operation be rcmoved 6.
" from awrite queue?

v . 5. a - Whatis th‘e'main issue in backward recovery? How it is achieved? What is forward 6
" recovery? . :

b.  Should the client and server—s1de CORBA objects for asynchronous method invocation: 6
. be per51stent‘7 Explam

“'WT-Con. 1955-16. S
o _ . [TURN OVER



2 QP Code : 18732

Section II
o 6 a = “The Time-to-Market design constraint has become.especia:lly demanding in recent. 6
' years.” Explain. _
b, Usmg suitable block diagram explain the build and load process for embedded 7

‘apphcatlon programs. » ' : _
7 a ' What is ar event? What are various features of an event? How events are processed by 6 '
mlcrocontroller"

b Discuss two strategies used for limiting the duration of an unbounded priority inversion 7
~ inreal-time embedded operating system. ’

8 ' Differentiate between C and Assembly language. Why we need to mix C and Assembly . 6
: ' language while developing embedded system apphcdtlons‘7 s

b. stcuss the need for memory opt;mlzahon in an embedded system. S ' 7

: 9 i _"Desci'ib‘e Data:Acquisition Systeni (DAS)? What are it’s uses? - . 6 '
" b Llst and define different DMA eyeles. | 1
10 a. WriteC l_eh‘guagev code to initialize External Interrupt 0 to activate on arising edge, 6

applied to the external interrupt pin.
b.'i EXplfai.u the conﬁguratioh of Timer_0 to generate delay of’ 800 msec. . ‘ , 7

" WT-Con. 1955-16.
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] Wsecnon
' (2)  Answers to the two sections must be written in separate answer sheet.
- (3) Figures to the right indicate full marks.
(4)  Assume additional data if necessary but state the same clearly.
(5) Symbols have their usual meamngs and tables have their usual standard design unless stated
‘ otherwise.
(6) Useof s1mp1e calculators and statistical tables is allowed

Section 1

Q) Fmd out the CLASS of addressmg, net_id, host_ 1d network address and : -6
: _ subnetwork address for following P Addresses ‘
112639247 i) 221.224.115251 i) 167.254.221. 121

o )(b)' Comp_are layer 2 and layer 3 switching devices. ' ‘ 6
'Q.2(s) Write anote on FDDInetwork. - 6
(b) Llist and discuss the different DSL technologies and their advantages. 6

Q3() Usmg smtable diagram, explain the 1mp1ementat10n of spannmg tree algorithm to av01d 6

- looping problem encountered in layer2 devices.

) (b) o Wnt,e anote on interior and exterior rouung pr0tocols. innetworking - .6
QA(a) Explain ISDN in detail? and its advantages o : ‘ 6
o (b) Explam the components and funct10ns of Network Interface Card (N . . - .6
_ Q.5(a) List & exi)lajn the technical challenges and requirements in planning the Enterprise - 6 -
Network.

o () ., Define routing table? How it gets updated? And hence state the Dijkstra’s algorithm - - 6

- used in routing.

o [TURN OVER
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-geostationary orbit satellite systems.

2 . QP Code : 18861
Section 11
Stat.e‘keplcr"s laws of planetary motion, and hence illustrate in each case their relevance
to artificial satellite motion around the earth. -
Explain any TWO advantages offered by satellite communication over other

communication systems.

Explain the term sidereal time-énd orbital plane, using suitable diagram.

Define the following term: ,
1) Limits of visibility
i) Polar Mount antenna

State Reciprocity Theorem for'antenna and illustrate it with neat labeled diagram. What

- arethe two important consequences immerge due to Reciprocity Theorem.

'What is meant by cross polarization discrimation? Describe the factors which work in

favor of good cross-polarizatioﬁ discrimation.

Explain the term “up-link” and_“downllihk” of a satellite circuit? Derive an expression
for saturation flux density in terms of EIRP. - ‘
Explam in detail an intermodulation noise. '

What do you mean by an spread spectrum technology, and how this is useful to
minimize interference in CDMA systems. '

What are nqn-geo-StationaIy orbits? State different design considerations on non- N
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stated otherwise.

(6)  Use of simple calculators and statistical tables are allowed.

1 a A calculator company produces a scientific calculator and a graphing calculator. Long-term 6 |

t state the same clearly
(5; §ymbols have their usual meanings and tables have their usual standard design unless

s)

section.
ritten in same answer sheet.

Section |

QP Code : 18999

[Total marks: 75]

projections indicate an expected demand of at least 100 scientific and 80 graphing calculators
each day. Because of limitations on production capacity, no more than 200 scientific
and 170graphing calculators can be made daily. To satisfy a shipping contract, a total of at
least 200 calculators much be shipped each day

If each scientific calculator sold results in a 140 INR loss, but each graphlng calculator
produces a 350 INR profit, how many of each type should be made dally to maximize net

profits?

Draw the feasibility region graphs and solve the problem. graphlcally

b.  Explain applications of Optimization techniques.

2  a HowlLP problem is solved using Simplex method? Give steps.

b.  Solve the following L.P.P. by Simplex method:

Min Z= 5X1 - 2X2 + 3X3
Subject to 2X; +2X, - X3>2
3X;-4X,; <3
X, +3X5<5
where X;, X;, X3>0

3 a Write down the dual of the following primal L.P.P. Solve this prlmal by Big M method, and
hence determine solution of dual problem from the optimal simplex table of primal.

Min Z =300X, + 110X,

Subject to 30X; + 5X,>6
20X, + 10X, > 8
X, X220

b. Discuss the transportation problem model as maximization problem.

4 a. Explain algorithm for obtaining an initial basic feasible solution to a transportation problem
using North West Corner method. Find the initial solution for the following transportation
problem using North West Corner method.

WT-Con. 5465-16.
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b.  Solve the following Travelling Salesman’s problem. 6
A|B|C|D
Al |4 |73
B|4|w|6]3
C|71]16|x |7
D|3]3]7 |
5 a. Discuss briefly Monte-Carlo simulation technique. Find the approximate area under the 6

following curve, using Monte-Carlo simulation technique.
Ax)=3x*+2x+1 0<x<1
b.  Solve the following Integer Programming problem: 6
Min Z =3X; +2.5X;
Subjectto X;+ 2X;>20

3X,+2X;>50
X1, X5 > 0 and integers

Section I

6 a. Explain features and applications of eCRM. 6
b.  Explain various technologies required for using CRM. 7

7 a. What are uses of reporting tools for succes;ful Sales Force Automation (SFA)? _ 6
b. Define customer. Explain customer life cycle. 7

8 ' a.  What is application service provider (ASP)? Explain their role in implementing CRM. 6
b. Whatis Enterprise marketing automation (EMA)? Explain EMA components. 7

9 a. Whycall centers are required in business? How they enhance business? 6
b.  Explain marketing campaign and campaign management. 7

10 a. Why power user beta test is required? What will happen if this test is skipped? 7
' b.  What is application service provider (ASP)? What are the disadvantages of implementing 6

ASP? Discuss these disadvantages with reference to:
(i) Small scale industries
(ii) Large scale industries
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